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T COMMON ANNUAL EXAMINATION - 2025
STANDARD - VIII Reg. No.] [ T T T 1 IL
| B N1 VO -
Time : 2,30 hrs MATHEMATICS Marks : 100
I. Choose the correct option: 1ax1=14

_.5 |
1) » 88 rational number which lies between

-5
a)Uaﬂd 4 b)"l and 0 c) -1 and -2 ”) -4 and -5
3 (5.1
2 3(5+3)-
S 2 15 15
a) 8 b) 3 <) 33 d) 16
3) Which of the following illustrates the inverse property for adrition?
e 48  n S 1 1 S A s
2 igiming o0 sPE L w8708 g 078
4) ___ is added to 242 to get 257
a) 42 b) 52 c) 62 d) 72
10* 9
5) ¥ 103 =107, then x is :
-a) 4 b) 5 : c) 6 d) 7
Ex[l-l]=1xl-§x£ , 8 o Itiplication is distributi
6) 25273 & . Illu@tﬁ 4t nultiplication s. istributive over
a) addition b) subtractinn c) .aultiplication d) division
7) A cube has faces. . :
a) 6 b)8 c)5 d) 4

8) The largest number of th¢ tar.2 consecutive numbers is x+1, then the

smallest numberis _
a) x b) x~* c) x+2 d) x-1

A fruit vendor sells “ruits for ¥ 200 gaining ¥ 40. His gain percentage is

9)
2
a) 20% b) 22% 0 25% d) 165 %
; 2

10) The cost ol a ~~achine is ¥ 18,000 and it depreciates at 16 3% annually.
Its value ate; 2 years willbe .

a) £12,000 b) ¥ 12,500 c) ¥ 15,000 d) ¥ 16,500
11) The hypotenuse of a right angled triangle of sides 12 cm and 16 c¢cm is

b) 20 cm c) 24 cm d) 21 em

a) 28 cm
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12) Inclusive series |s a 1T

a) continuous b) discontinuous c) both d) none of these
13) How many outcomes can you get when you toss three coins once?

a) 6 b) 8 c) 3 —— . T} )
14) What is the eleventh Fibonacci number? ;

a) 55 b) 77 c) 89 d) 144

1. Answer any 10 questions: (Q.no. 28 is compulsory) 10x2=20

15) Write the decimal form of ';3

6
16) Find the sum ¢ [ 11,'54].

17) Simplify: 27

18) Find the smallest number by which 200 should be mulhplied to make it a
perfect cube, - &

19) A circle of radius 70 cm [s divided into 5?'qqual sectors Flndl:he area of
each of the sectors. . @ a Vi

20) Expand: -2p(5p2

21) Divide (5y*-25y24

22) A number when inc

23) P = % 5,000, |

24) Find the value of x,

25) A 20 feetladder lec m the ground.

How far is the ba ’
26) Shanthi has 5 chua ible ways, can

- she wear rithar a ct
27) Using repe
28) 2M 14
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- VIII - Maths
II. Answer any 10 questions: (Q.no. 42 is compulsory) 10x5=50
29) Arrange the following rational numbers in ascending and descending order.

-5 =11 15 4 12

12' 8 ' 24.' -9' 36

30) Find the square root of 17956, using long division method

-
57 x5 x 5%

3
cl2 ?  solve for 'x'.

31)

32) The radius of a sector is 21 cm and its central angle is 1209, Find (i) the
length of the arc (ii) area and (iii) perimeter of sector.

33) Find the area of an irregular polygon field whose measures are as given in
the figure. -

RN
Al ;_ am - Srnlq_lam S C
eI 10m,/
: | |
¢ J

34) Factorise 8m>-60m2n+150mn?-125n° using ia-.0tity.

35) There is a wooden piece of length 2m. A Lorpen.er wants to cut it into two
pieces such that the first piece is 40 o sinaller than t_wlce the other
piece. What is the length of the sma''sr ir.ce? '

36) Principal = ¥ 4,000, r = 5% p.a.,n =’ y& rs, interest opmpounded annually.
Find the CL. | : R

37) If 81 students can do a paintir- 0. - wall of length 448m in 56 days, then
how many students can do ti = pzinting ona slvmj[ar tirpe of wall of length
160min 27 days? _ t dept

38) In the figure, G is the centri’d of the triangle xyz. -

X

i

i) If GL = 2.5 cm, find the length of XL.
iy IfYM = 9.3 cm, find the length of GM.
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$39) Represent the following data in ungrouped mquem:y uﬁwwma-rmeg the

‘number of children in 25 families. By
1,3,0,2,5,2, 341,08, %9 4,32,5 2 1.1,2,6, 2,48

~ 40) Income from various sources for Govemment of India frorh a rupee is glven
below. Drawapiechhrt I 10 10U w2 gy

1y

__ | y _ tax . duties | tax ;
. -m . || }-l;.‘ﬂ.g_r. R T 16 k| . N PO T wIg cuesIER L B 32
(il'll.'lﬂli!) Te N W1 DY S “!,_ -’t 5 ERL L O '. ‘,!I""_.";u'" -" 7

41) Using repeahed Tvision method find the HCF of 184, 220 and 2‘75 %

42) Palonecan do % ofaworkinﬁdays ananlqnecan do -;— ofthe same
: <'|P " ‘.\. \ of ety

1ish - of the work, working

- work in 4 da 5. In |
't_ogether"?

V. Answer any o
43) A) Construct:
B) Construct.

~ ZBEA = 80

.. : ¥ w b “ '*‘1"4‘_“.?'.
44) A) Draw the g v=2x
a) Inastudy =10
" |Ages @..3? 60-70(70-80
[ vo. or patiaty 43 | 50
1
Imail.c_om'

I—


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

